(EMG(A) CD

1. Notes on the documentation

Please hand over all the documentation to the user of the appliance. The user must keep
these documents in order to be able to consult them if necessary. No liability is accepted for
damage caused by failure to follow these instructions. All measurements in this manual are
expressed in mm.

2. Warnings for safety and correct use.

The articles are products that comply with the latest technical developments and with the
safety rules in force. The trolleys of the TRAY line, object of this manual, are designed and
built in accordance with the relevant technical directives and regulations, to guarantee a safe
and reliable product. Any other use is considered non-intended. The manufacturer assumes no
responsibility for damage caused by improper use. Responsibility lies solely with the user.
Intended use also includes compliance with the instructions for use and installation and all
supplementary documentation as well as compliance with inspection and maintenance
conditions. 3. Warranty We thank you for purchasing a product designed and built for use in
professional work environments. For construction and commercial needs, the manufacturer
reserves the right to make changes to the products at any time that improve their use and
quality, in compliance with European Union legislation, guarantees its products for 12 months
from the delivery date. This warranty does not include electrical parts, labor and all
replacements made necessary by improper use of the product. Any manipulation carried out
automatically excludes the manufacturer's liability. The products or parts to be replaced or
repaired for unequivocal manufacturing defects and the materials used must be received
"carriage paid" at the manufacturer's premises, which after careful inspection, will carry out the
repair or the replacement of the same. Repairs are carried out only and exclusively at the
manufacturer's premises, and in no case will the manufacturer reimburse any costs incurred by
the customer for repairs made by him unless expressly agreed.

4. Installation and assembly.

This article is packaged and shipped disassembled. Assembly of the same must be carried out
by qualified personnel. The manufacturer declines all responsibility for damage to things or
persons deriving from non-observance of what is described in this manual. Do not make any
structural modification to the trolley The elements that make up the package (plastic,
polyurethane foam, bubble wrap, polystyrene, cardboard etc.) must be kept out of the reach of
children as they are potential sources of danger and must be collected and disposed of
separately, in accordance with current legislation.

5. Cleaning and maintenance
The cleaning of the stainless steel and chromed parts can be done with a soft cloth soaked in
alcohol, it is recommended to always dry very well in order to avoid the persistence of halos.

6. Disposal

At the end of its life cycle, the trolley must be disposed of in accordance with current
regulations and it is necessary, where possible, to disassemble it and differentiate the various
components.

OO0 535040-042 G22E 1/4



TRAY Assembly instructions
Istruzioni di assemblaggio
I Instructions de montage

§ﬁ| Montageanleitungen
Instrucciones de montaje

1
|I'

." 7 f I’ .
/ / I/
',."' = - A A A /)
) o /|
/ o =
i) '.I' "
I

.

¥ 3 ]
I' !
/ "
F <y r II|lII /.
1777
£ Y / A " i
/

‘l’i

) 'l"

7

f
-

OO0 535040-042 G22E 2/4



*ONLY FOR BACK-PANELING

OO0 535040-042 G22E 3/4



OO0 535040-042 G22E

"||| """ll -|=|
|||.| "-== .|']|
N

‘-III: EIE

CASTOR ASSEMBLY

CART

/M10 DIN 9021 WASHER

CONIC WASHER

DIN &47978A M10 ELASTIC WASHER

SCREW #12 M10 x 40

@125 mm CASTOR

4/4



